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PHAZ3/P: Practical Examination

Question 1

AOQO3a: planning

measurements

(to measure the angle between AB and the surface of the table) use v
protractor

(to determine the transit time of golf ball between B and edge of

table) v
use of two light gates (or suitable sensors)

connected to data logger or to a computer via an interface or to a v
stopwatch/stopclock

[use of stopwatch for hand held method v']

strategy

measure transit times between B and edge of table for different a
plot graph of angle o against transit time

read o - i, from turning point of the line on graph

ANANEN

control

release ball (at A) from rest

sensible procedure described to release ball from rest at A
maintain position of B (on table)

sensible procedure e.g. mark table, to maintain position of B
direction of AB relative to edge of table

sensible procedure to ensure AB at 90° to edge of table

ANANENANENRN

max 2

difficulties
(difficulty + how overcome = 2)
any two of the following

reduce uncertainty in transit time between B and edge of table(v")
by making transit distance large (V') or

by repeat timing and averaging (v) or

sensible procedure to overcome parallax error (v)

reduce uncertainty in o (v")

by identifying a sensible measure to maintain position of track

when carrying out experiment (v) or

by using large protractor (v') or

by establishing a by trigonometry (v) or

use of set square to ensure vertical measurement correct or use of plumb
line to ensure horizontal measurement correct (v)

reduce uncertainty in determining angle for least transit time (v")
by increasing frequency of readings close to turning point on graph (v)

vvvvy

max 4

Total

max 8
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Question 2
AO3b: implementing
(a) accuracy FE and V), recorded with unit, values sensible, v
with 0.4 E<0.8F
(b) tabulation ~ x/mm VIV v
readings Ssets of x and V'
(1 mark deducted for any missing set) vV
(1 mark deducted for x range < 250 mm)
(a)/(b) significant  all x to mm, E, Vyand all V'to 0.01V v 8
figures
(b) quality 5 points to = 2 mm of straight line v
(providing suitably scaled graph drawn)
(©) tabulation E-V
_— x/mm 4
14
- E
sig. fig TV datato 3 s.f. or 4 s.f. 4
AOQO3c : applying evidence and drawing conclusions
processing
(©) axes - )
marked /no unit and x/mm v
(%> mark deducted for each missing)
scales suitable (e.g. 8 X 8) v
[5%5,2%x8,8x%x2]
points 5 points plotted correctly v 8
with straight best-fit line drawn
deductions
i rom suitable A (e.g. 8 X
a @ G fi ble A 8x8 v
. £
(it) u , to nearest cm, in range 0.40m to 0.50m
GV, vV
[0.35mt0 0.55mor0.4mor0.5m v]
AO3d: evaluating evidence and procedures
(e) (1) resistance = 0.5R v
(ii) resistance = 2R v
(iii) suitable diagram e.g.
v
ﬂ 6
resistances shown as 0.5R, 0.25R and 0.5R v
total resistance =1.25R 4
(iv) | claim could be correct
e.g. idea that 2R — 1.25R = 1.25R — 0.5R or statement such as v
1.25R is halfway between maximum and minimum values
Total 22




